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X=86,88,Y,,-88,59,2,,=104,73 B0
%,=0,3100y,,=0,3161 40
Ao= (@0~ ag,) Yis (VY1913

Bo = (B ~ bo) Y15 (/Y1913

ag = [xly] 80

bg = byq [2/}] 37
ay =1, byp=-0,4

0
n=C00 40
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X=86,88,Y,,-88,59,2,,=104,73 B1
X,=0,3100y,=0,3161 .
A1= (a1~ a1 ) Yig (Y/Ym)lg
By = (b1~ by ) Yig (/Y19

a; = ayq [(x—0,171/y] 41

by =y [2/Y] BE9 57

a0= 1, byo=-0,4 /755 A

mp1=1,000,br;=0,171 ) \ N

n = C00 —40 ' i v
B 30

Ogvalddoloyfs (o) Y\)=88,6
mgx (m)Ehmatic value, CO0
chfoma (A7, B*))
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X,=86,88,Y,,=88,59.2,~104.73 B,
¥,,=0,3100y,,=0,3161 10
Ap= (@ = ay) Yig (VY1913

Bz = (b~ by, Y15 (Y1913

ay =2y [(x-0,17Dh]

b,=ba0 [(Mp1x+bp1)/Y]

a0=1, byy=-0,4 89 5, A
mp;=-0,169,05:=0,389 , 2
n=C00 —40 i 40

Ostwaldcolours (0) Y\)=88,6
max (m) chromatic value, C00
chroma (A*,, B*,)
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X,=86,88,Y,,~88,59.2,~10473 B,

¥w=0,3100y,,=0,3161

A3= (a3~ agp) Y1g (Y/Y18)1g
B3 = (b3~ by Y15 (Y/Y19)™

a3 = a0 [(x-0,17/y]
b3=ba [(Mp1x+bp1)/y]
a0= 1, byo= 0,4
Mp1=-0,974b,=0,658

|

n=Co00 40

Osfwalgolours (0) Yiy=88,6
m ) Ehénatic value, CO0
chgdma (A*3, B*3)
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X,=86,88,Y,,~88,59.2,~10473 B,

%,=0,3100y,,=0,3161 20
Ay (8 =aq) Yia (Y19 113
By = (b4 — by ) Y18 (Y/Y19
ay = ay [(x=0,171/y] 1
by=byg [(Mp1x+bp1)/y] b
a50= 1, byo= -0,4 9 57
mp=—0,169pp=0389 . [9] . A
n=C00 —40 i 40
1 30
8 -
Ogjwalddolours (o) Y\)=88,6
max (m)hdnatic value, CO0
chroma (A*,, B*,)
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X,=86,88,Y,,~88,59.2,~10473 B,

¥w=0,3100y,,=0,3161

A5 = (a5 —a5.) Vg (VY1913
Bs = (bs — bs ) Y1g (Y/Y19)L

a5 = a0 [(x-0,17/y]
bs=ba [(Mp1x+bp1)/y]
ay =1, byp=-0,4
Mp1=-0,974b,=0,658

|

n=Co00 40

Osfwalgolours (0) Yiy=88,6
m ) Ehénatic value, CO0
chgdma (A*s, B*s)
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X,=86,88,Y,,~88,59.2,~104.73 B,
%,=0,3100y,,=0,3161 40
Aq= (8 ~a5,) Y1s (VY1913

Bg = (bg — b ) Y15 (Y/Y19)

g = ago [x/Y]

be=ba [(Mp1x+bp1)/y] o 37
a0= 1, byo= 0,4 8L 3
Mpi=-0,974p;=0.658 |

n=C00 -40

Ostwaldcolours (0) Y\)=88,6
max (m) chromatic value, CO0 T —40
chroma (A*g, B*g)
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